



St. Louis County, Minnesota

Date of Report: 12/14/2025 12:04:39 PM

General Details

 Parcel ID:
 141-0020-02110

 Document:
 Abstract - 674461

 Document Date:
 11/05/1996

Legal Description Details

Plat Name: HIBBING

Section Township Range Lot Block

15 57 20

Description: NE1/4 OF SW1/4 EX E 428.4 FT OFN 1095 FT AND EX W 209 FT OF N 1095 FT

Taxpayer Details

Taxpayer Name SUHONEN SAMUEL ERNEST

and Address: 11224 DUPONT RD

HIBBING MN 55746

Owner Details

Owner Name SUHONEN SAMUEL E & CRYSTAL

Payable 2025 Tax Summary

2025 - Net Tax \$5,402.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$5,402.00

Current Tax Due (as of 12/13/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$2,701.00	2025 - 2nd Half Tax	\$2,701.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$2,701.00	2025 - 2nd Half Tax Paid	\$2,701.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 11224 DUPONT RD, HIBBING MN

School District: 701
Tax Increment District: -

Property/Homesteader: SUHONEN, SAMUEL & CRYSTAL J

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$29,300	\$174,100	\$203,400	\$0	\$0	-	
207	0 - Non Homestead	\$7,900	\$90,600	\$98,500	\$0	\$0	-	
111	0 - Non Homestead	\$17,700	\$0	\$17,700	\$0	\$0	-	
	Total:	\$54,900	\$264,700	\$319,600	\$0	\$0	3160	





St. Louis County, Minnesota

Date of Report: 12/14/2025 12:04:39 PM

Land Details

 Deeded Acres:
 23.96

 Waterfront:

 Water Front Feet:
 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Sewer Code & Desc:	S - ON-SITE SANITA	ARY SYSTE	ΞM					
Lot Width:	0.00							
Lot Depth:	0.00							
The dimensions shown are n	ot guaranteed to be surve	ey quality. A	Additional lot	information can be	e found at			
nttps://apps.stlouiscountymn.						Tax@stlouiscountymn.gov.		
	lı	mproven	nent 1 De	tails (ON BSM	'T)			
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
HOUSE	1952	1,02	20	1,020	U Quality / 0 Ft ²	RAM - RAMBL/RNCH		
Segment	Story	Width	Length	Area	Founda	tion		
BAS	1	30	34	1,020	BASEM	ENT		
CW	1	10	10	100	FOUNDA	TION		
Bath Count	Bedroom Count		Room C	ount	Fireplace Count	HVAC		
1.5 BATHS	3 BEDROOMS		5 ROOM	MS	0	CENTRAL, WOOD		
		Improve	ement 2 D	Details (26X40)				
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
GARAGE	1952	1,04	40	1,040	-	DETACHED		
Segment	Story	Width	Length	Area	Founda	tion		
BAS	1	26	40	1,040	FLOATING	SSLAB		
		mprover	nont 3 Do	tails (ON SLA	R)			
Improvement Type	Year Built	Main Flo		Gross Area Ft 2	Basement Finish	Style Code & Desc.		
HOUSE	1991	86		864	Dasement i illisii	RAM - RAMBL/RNCH		
Segment	Story	Width	Length	Area	- Founda			
BAS	3.01y 1	24	36	864	FLOATING			
Bath Count	Bedroom Count							
1.0 BATH	1 BEDROOM		Room C 4 ROOM		Fireplace Count HVAC			
I.U DATH					0	CENTRAL, ELECTRIC		
		-		tails (PB 30X4	•			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
POLE BUILDING	1998	1,35	50	1,350	-	-		
Segment	Story	Width	Length	Area	Foundation			
BAS	1	30	45	1,350	PIERS AND F	OOTINGS		
		Improve	ement 5 D	etails (ST 8X8)			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	0	64	ļ	64	-	· -		
Segment	Story	Width	Length	Area	Founda	tion		
BAS	0	8	8	64		T ON GROUND		
Improvement 6 Details (ST 8X12)								
Improvement Tyre	Year Built	Improve Main Flo		•	•	Chula Cada 9 Dasa		
Improvement Type				Gross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	0	96		96	-	-		
Segment	Story	Width	Length	Area	Founda			
BAS	0	8	12	96	POST ON G	KOUND		





St. Louis County, Minnesota

Date of Report: 12/14/2025 12:04:39 PM

					Date of Repor	t: 12/14/202	25 12:04:39 PN		
		Improve	ment 7 Detail	Is (ST 12X12)					
Improvement Typ	pe Year Built	: Main Fl	Main Floor Ft ² Gross Area Ft ²			Style	Code & Desc.		
STORAGE BUILDING 0		14	144 144		- -				
Segment Sto		y Width Length		Area	Found	lation			
BAS		12	12 144		POST ON	GROUND			
•		Improver	nent 8 Details	s (METAL CP)					
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc									
CAR PORT	0	360		360	-	•	-		
Segment Sto		y Width	Width Length Area		Foundation				
BAS	0	18	20	360	POST ON	POST ON GROUND			
		Sales Reported	I to the St. Lo	ouis County Au	ıditor				
No Sales informa		Синостторонос		7 C C G 7 7 1.0					
	·	Δ	ssessment H	listory					
	Class				Def	Def			
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity		
	201	\$35,000	\$194,000	\$229,00	0 \$0	\$0			
	207	\$8,200	\$101,100		· · · · · · · · · · · · · · · · · · ·	\$0	-		
2024 Payable 2025	111	\$22,100	\$0	\$22,10	0 \$0	\$0	-		
	Total	\$65,300	\$295,100	\$360,40	0 \$0	\$0	3,618.00		
	201	\$35,000	\$179,800	\$214,80	0 \$0	\$0	-		
	207	\$8,200	\$93,600	\$101,80	0 \$0	\$0	-		
2023 Payable 2024	111	\$22,100	\$0	\$22,10	50 \$0	\$0	-		
	Total	\$65,300	\$273,400	\$338,70	0 \$0	\$0	3,463.00		
	201	\$28,400	\$128,400	\$156,80	0 \$0	\$0	-		
	207	\$7,800	\$66,900	\$74,700	50 \$0	\$0	-		
2022 Payable 2023	111	\$17,000	\$0	\$17,000	\$0	\$0	-		
	Total	\$53,200	\$195,300	\$248,50	0 \$0	\$0	2,441.00		
	201	\$25,600	\$122,700	\$148,30	0 \$0	\$0	-		
_	207	\$7,700	\$63,900	\$71,600	0 \$0	\$0	-		
2021 Payable 2022	111	\$14,800	\$0	\$14,80	0 \$0	\$0	-		
	Tota	\$48,100	\$186,600	\$234,70	0 \$0	\$0	2,287.00		
			Tax Detail His	story	1				
Tax Year	Тах	Special Assessments	Total Tax & Special Assessmen		Taxable Bu nd MV MV		tal Taxable MV		
2024	\$5,008.00	\$0.00	\$5,008.00	\$62,38	2 \$258,4	10	\$320,792		
2023	\$4,056.00	\$0.00	\$4,056.00	\$49,01	1 \$176,36	61	\$225,372		
2022	\$3,926.00	\$0.00	\$3,926.00	\$43,97	6 \$166,83	31	\$210,807		





St. Louis County, Minnesota

Date of Report: 12/14/2025 12:04:39 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.